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OAZAL SRIZ2 B8 228
250,00021 *47 A+ 122 12,000
OFIIHHBRIY 242
250,000 *50H A+ 123 15,000
OF=J, 2718571, 8l0 gz
500,000 x6IH 2=+ 123 36,000
OSUABAAL B 242
150,000 x6IH 2% 123 10,800
O= A2 0kt HHZAIZE RO1EH 89
2,130,000& x4 A+ 12 102,240
O= A2 o2tH4 Hlad AAE A 2l S
B 2,210,000 122 26,520
02 s3=gHl 12,960 12,000 960
0zYIl suRel 89
216,000 x50 =% 123 12,960
ZESAIAE B2l 180,000 530,500 A350,500
201 er23 | 180,000 356,500 144,500
01 At2teltl 180,000 35,500 144,500
ONBEAHZ BRHAAH SBSTZ2 B
Jl=8oRE ¢ 2,000,000 12 2,000
OAEEANZ Mot 225 FY
500,000 *42] 2,000
OAIE A2 AL cloldA 4l
500,000 44 2,000
OAIEEAZ A 0S &
2,300,000& *1H 2,300




SA: SHR2YD
33 B 5|2 F= TAA2S =4
9l SAHOZAE 9Iat BAMA (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OANEZ A2 TACIAAE AHE Al
T2 72 400,000 4K 1,600
OANEBEAZ HEAAE A2l =42 6,100
—JEANAE SERA2C 9 TEAHS
S 1,500,000& 1,500
—ANE A2 SHOIX =2lelISAHA A
o ez 4,000,000& *12] 4,000
—ANEZA2 SHOIX 2I2H0L0IE! MHIA
A =5 600,0002 %12 600
QAI(IBRs) TAFA 31243 FHl Xt
ENVE=T=S 4,000,000 *6H 2 24,000
OAEENZ FEAAY SEFXI2el 140,000
—ANEEAM2 A 2 FUHEH
339,255,000 *7% 23,748
— sty &l 87,199,000 *10. 4% 9,069
~SHTHB 2% ATEY O
515,870,000& %10.4% 53,651
-T2 USe £Fd
391,689,000 *7% 27,419
—SAE 2Y 24
218,381,000 *10.4% 22,712
—JI&t 2UAIE |X
3,400, 1203 *14] 3,401
dY2IIH(=A22E) 438,753 365,622 73,131
el 2| 363,753 0 363,753
el 2d| 363,753 0 363,753
101 21AH| 363,753 0 363,753
01 2= 363,753 0 363,753
OAlt2I22+4
11,3192 +«33E*30A| 2+ 123 134,470
O ] 90,9853 x21H«120A1 2t 229,283
Jl=3H| 75,000 365,622 A290,622
Jl=23H] 75,000 365,622 A290,622
201 er23| 12,000 12,088 N88
01 AtR2t2|HI 12,000 12,088 A88
OAIR4 S8 dEas
600,000& * 122 7,200
OJ|=gf=d Sl
8,000& »4H »150& 4,800
202 04l 57,120 48,720 8,400
01 2LHoIH 57,120 48,720 8,400
OJl=22HEE 0]
20,0002 x34H~72x 12 57,120
203 HR=AH] 5,880 5,820 60
MU FA2SHIFLI 5,880 5,820 60
ORAMEZE =4 490,000 122 5,880




